L4

ROD SHOP

TOYOTA 3 LITRE 6 CYL TO CHEV V8 AUTOMATIC TRANSMISSIONS.

AP134.DOC

READ ALL INSTRUCTIONS BEFORE STARTING.

THIS CONVERSION IS DESIGNED TO FIT THE FOLLOWING TOYOTA MOTORS:

1JZ-GE 3 LITRE TWIN CAM 24 VALVE STRAIGHT 6
2JZ-GE 3 LITRE TWIN CAM 24 VALVE STRAIGHT 6

THESE MOTORS ARE AVAILABLE IN EITHER ‘NATURALLY ASPRIATED' OR
TWIN TURBO CHARGED.

NOTE: THE STANDARD TOYOTA STARTER AND DRIVE PLATE SET UP IS USED
ON THIS CONVERSION

VERY IMPORTANT TRANSMISSION INFORMATION:

THIS CONVERSION WILL SUIT THE FOLLOWING AUTOMATIC
TRANSMISSIONS.

(1) POWERGLIDE — TURBO 400 — TURBO 700 — ALL PRE GEN 3
(2) GENERATION 3 — (GEN 3) AUTO TRANSMISSIONS

IMPORTANT - The only difference between the PRE— Gen 3 auto and

Gen 3 auto conversions is the adaptor is used to adapt the crankshaft to the
torque converter snout. These are different lengths and are DEFINITELY NOT
inter changeable. CHECK part numbers on this sheet and ATTACHED
DRAWING to make sure you are using the correct crank adaptor.




KIT CHECK LIST:

1 off Adaptor plate fitted with dowels — CRS2066 — AP 134
5 off Special countersunk head bolts — M12 x 1.25 x 30 — CRS2046 — Adaptor to motor.
(Bolt 23)
2 off Special countersunk head bolts — M10 x 1.25 x 25 — CRS2065 — Adaptor to motor.
(Bolt 24)
2 off M10 x 1.25 x 30 bolts with flat washers — Adaptor to motor.
1 off Crankshaft/Torque converter adaptor — available in two types.
TYPE 1 suits PRE GEN 3 Auto’s — T400 — T700 — CRS2081 (TC Locator 27)
TYPE 2 suits GEN 3 auto transmissions — CRS2082 (TC Locator 28)
See information above and check you have the correct adaptor

\__.1
PRE GEN3 GEN 3
POWER SLADE - T400 —~T700 (DN L“f)

1 off Aluminium Drive Ring — CRS2067 — Toyota drive plate to Chev Torque converter —
(TC Spacer 16)
NOTE: This ring is drilled to suit large and small bolt pattern Chev torque
Converter bolt pattern as well as Gen 3 torque converter bolt pattern.

6 off M10 x 1.5P x 25 bolts — Drive plate to aluminium drive ring.
6 off 3/8” UNC x 1-1/2" long bolts with flat and spring washers — trans to adaptor.
2 off M8 x 1.25 x 65mm long special starter motor with flat and spring washers.



FITTING INSTRUCTIONS:
Step 1: PREPARING THE MOTOR:

** Remove the drive plate from the motor and check that the aluminium drive ring
supplied with this kit does not foul with the weld that holds the starter gear to the drive
plate. The aluminium drive ring is designed to clear the weld, but it may be that some
drive plates have larger welds. Bolt the aluminium ring to the drive plate as shown on
drawing of Toyota crank set up supplied with these instructions (SEE SECTION ON
IMPORTANT INFORMATION) . Use the M10 x 1.5 bolts — if the ring fouls with any of the
welds you will need to CAREFULLY grind THE WELD until it clears the ring. When or if the
welds clear, remove the aluminium ring and bolt the drive plate back onto the motor
taking care that the spacer washer and disc washer are in the original positions as shown
on the drawing.

** Clean the transmission face of the motor. Carefully remove any "BURRS” or "HIGH
SPOTS” with a file.

3.
** Carefully remove the transmission spigot bearing from the end of the crankshaft if
the motor was previously used in a manual transmission vehicle.

** Clean the crankshaft thoroughly.

** Make sure the two original transmission location dowels are still fitted to the trans
face of the motor.

** Make sure the original Toyota drive plate and spacers are bolted to the motor in their
original position.

STEP 2: FITTING THE ADAPTOR PLATE:
(Refer to the ADAPTOR PLATE DRAWING supplied with these instructions)

** Fit the adaptor plate to the motor, locating it on the two dowels that protrude from
the face of the motor.

**Bolt into position using the bolts described on the adaptor plate drawing — we
recommend the use of “Loctite” metal adhesive on these bolts for added retention. We
use “Loctite type 243" which is a medium strength adhesive that will UNDO with normal
tools. “Loctite” can be purchased at most good automotive, engineering or bearing
suppliers.

TAKE NOTE that two of the bolts (M10 x 1.25 x 30) go through holes in the lower part of
the aluminium sump - these bolts are fitted from the motor side and screw into the
adaptor plate — see holes marked * on adaptor drawing.

** Bolt the starter motor in to its original position using the 8mm x 1.25 x 65 bolts and
flat and spring washers. The bolts will slide through the existing threaded holes in the
starter motor and screw into the holes in the adaptor plate. Make sure you have a flat
and spring washer fitted to each bolt then tighten the starter into place. You will notice
that the threaded end of these bolts will stick out past the face of the adaptor plate. You
will need to measure how much they protrude, then remove the bolt and then shorten
the bolt by 1/64" or 0.5mm more that the amount you measured. Fit the bolt and
washer back into the starter and tighten into place. When the bolt is tight it should not
protrude past the face of the adaptor and should be just below the surface so that it does
not foul with the transmission when it is fitted later. Leave the starter bolts in place
when this modification if completed.



STEP 3: FIT THE CRANKSHAFT/TORQUE CONVERTER LOCATOR.

** The crankshaft/torque converter locator is made so that it is a firm fit in the bore of
the crankshaft. Because some crankshafts have become worn with use, we recommend
that you use a smear of loctite adhesive on the outside of the locator as you fit it to the
crank — this will “take up” any normal wear that may have occurred and will hold the
locator in place. (You will notice that the locator has a thread in it, this thread is /2" UNC
and is to allow the removal of the adaptor at a later stage by screwing a /2" UNC x 3"
long set screw into it and tightening it until the locator is forced out.) REFER TO
ATTACHED DRAWING FOR FITTING METHOD.

STEP 4: PREPARING THE TRANSMISSION:

** The aluminium drive ring needs to be fitted to the torque converter from the Chev
transmission that you are using. You will notice that there is provision for 3 types of
torque converters to be bolted to the drive ring — it is drilled to suit a standard Chev

4.
torque converter with a small bolt pattern which is 3 equally spaced holes on 10-3/4"
P.C.D. — as used on small block chev. Itis also drilled to suit a standard Chev torque
converter with a large bolt pattern — 3 equally spaced holes on 11-1/2" P.C.D. — as used
on big block Chev’s.

The other bolt pattern is to suit a torque converter from an auto trans from a GEN 3
V8.

REFER TO DRIVE RING DRAWING SUPPLIED WITH THESE INSTRUCTIONS FOR HOLE
IDENTIFICATION AND SPECIAL SET-UP INFORMATION.

IMPORTANT NOTE: We have not supplied bolts to bolt the drive ring to your torque
converter — the reason for this is that some torque converters have 3/8” UNC threads,
some torque converters have 3/8” UNF threads, some torque converters use a 3/8" bolt
and a nut and GEN 3 torque converters use metric bolts. You will need to determine
which type of bolt suits your torque converter then purchase 3 new bolts with the same
thread that are either V2" or 13mm LONGER THAT THE ORIGINAL CHEV torque converter
to drive plate bolts.

VERY IMPORTANT: BOLTING THE RING TO THE CONVERTER:

Bolt the aluminium drive ring to the torque converter with the 3 bolts that suit (as
described above.)

IT IS VERY IMPORTANT THAT THIS RING IS SET TRUE TO THE SNOUT OF THE TORQUE
CONVERTER.

Refer to the set up procedure instructions on the DRIVE RING DRAWING.

STEP 5: FIT THE TORQUE CONVERTER WITH DRIVE RING TO THE TRANSMISSION:

** Carefully slide the torque converter onto the drives of the automatic transmission.
You will need to rotate and “jiggle” the torque converter as you fit it so that it locates
fully on all the drives and goes fully into position. The face of the aluminium drive ring
will protrude past the face of the transmission by 10-13mm when fully in place — DO NOT
FORCE ON.

STEP 6: FIT THE TRANSMISSION TO THE MOTOR

** Carefully fit the transmission to the location dowels protruding from the adaptor
plate. MAKE SURE THE TORQUE CONVERTOR STAYS IN ITS "FULLY ON” POSITION AND

4



DOES NOT SLIDE FORWARD ON THE DRIVES AS YOU FIT IT, IF IT DOES MOVE YOU WILL
NEED TO REPOSITION IT AS DESCRIBED IN STEP NO.5.

Do not force the transmission — take care not to damage it as you fit it into position.
When the transmission is fully in place, bolt it in place with the 3/8” UNC x 1-1/2" long
bolts and washers supplied with this kit.

If any of these bolts hit the back of the motor before they tighten onto the face of the
transmission you will need to shorten them until they tighten properly onto the trans.

5.

STEP 7: BOLT THE DRIVE RING TO THE DRIVE PLATE

** Using the access window in the lower half of the motor, rotate the motor drive plate
until one of the bolt holes is visible, then rotate the torque converter until one of the
threaded holes lines up with the drive plate hole. Screw one of the M10 x 1.5 x 25 long
bolt in to place so that it is fully done up BUT ONLY FINGER TIGHT.

**Rotate the crank until the next set of bolt holes is visible in the access window. Fit the
next bolt as described above. Rotate and fit the next bolts in the same way, until all six
M10 bolts are fitted and finger tight.

** Remove one bolt, put a small amount of "LOCTITE type 243" on the thread. Re-fit
and tighten fully with a spanner. Rotate the crank and do the same to the rest of the
bolts.

** When this has been done the standard Chev dust cover can be bolted to the

transmission.

The motor to transmission is now complete and can be fitted to your vehicle,
transmission mounts and other modifications can then be made to suit. CRS can supply
modified tailshafts and may be able to provide other needs. Please phone for details.

ALL THE BEST WITH YOUR PROJECT — C.R.S.



e e

=/

T3UVLS ISMEBHIO SSTING
SIUALINNTUA NI IEV SHOISNINIQ ¥
S2°0_STIONY NO 0L Ivmioza

SNVEl 00/1 = 00FL Of
TN _wAdNS D 9 VIOADL

S'L
vooN\_o\nNE 980254

ONIFTINIONT S 8D
4 80 v IWvL 7661 — 10¢ 0011 S

Q32345 SSTIND FONVEFIOL OrIIN

ez - .. B | A Tl

Q

SATYIL T— UNGTST W IST X Gy
51009 QEIR WNOS WILNAOT wi23as

BOLOW 01 WOL4EGY

TRAWT Yalow SADNA Ta;uSDM:(_n@W
P UBNTUM SNANAE AN AT KL
1739 0% K ST R OiW

J040W QL “doLduay

SEEVHEE ERLI-74
34 109 SN L

TIMIA WO Lo
WOL A0H
NOilw307

SATMId § = TNOT AT X JST-4¥% W
L7038 JuIH wnag YILNACD TJuiragg
BOLOW 01 MO ldday

TYULHAY oy a3y 4
TIMUT NO1lgDeT]

NOISTIMSNUY L

TTIMOG WALAW
804 Aoy

QUMUL SNn gl
0N 00y swuL

QUYL TN0 gf
AW 00F WL

(£ nay)
QYL DD ge
F0W L7098 Shwel

-

N 2LB7oTY

‘$ITOH 1709
WOLOW WILBYLS

Z

IAS YLOW WA FDNONYHL %

YIRSEM TGS QN AT
09 08 X AS2 A % Olw
TVOLOW L MQ Liday

UL D g
L7 F19H 4009 SNuyl

3
//dc._.&ia.m 61 Q3ig
A3IMAQ NQ) 1M DoT
NOISTIWSNYRUL

TQEIRNL M0 gl
A9F 1109 SNERL

QUAURL 2N B
A0 1O Sl



|

)

03)ViS ISIMYIHIO SSIMN
STUILIHITUN N Juv SNOISNIWIG 1Y

TIIM ~

<4 89ty 3MEVL 2661 ~ 0z GOLL 'SV
G34ID3dS SSINN AONVHITIOL DIIYA
A T

19N 335 ~ SINUILOIMY LGN}
JHL NI a3siwdsiq SY 3164
SMAd JHL NQ QTIM FHL NO
LI Lon S30g HNIg IAMBA
WOLNIWATY IRL LyiL NI3IUD

NOLYWIOINT ANYLI0AW]

"LAGHS WNgy D
AL 0L GFALis LS
BYULVIANGD Fowwol

LAURS dnvy2

=1 T - TP IT FHNL 0L

MY IRL D9y oL PRLLMANY

Avo43g BYnaavoyd DAL g

L7I3Va2  wog "ON
NMOIIDOVLINE S MiLLIg TIS %

TRING NOLLISSO4 SNIMOHS
03 ANPG WATN WY

THNNEYD ¥IAAOL 40 NI
AGD 0T JULBINNOT Fngyos

WOLEIOT YWod QONLAW ONLLIYE

5

-

4

Roignn
BOIYINANOD INPWOL
BEL LRI I )

1109 24814 Inwg

LIYHT MNU™D
HLOAQL MY

W igA0L

TA3NSHM 351G
YLORL Wivivg

BINTYM ¥3d44s
AYd Ipd

31474 3nag Y1I0AQL NI YN0

RLOADL TUNIDINO



gL 7

E7=s)

C3ALViS ISIMYIHIO SSITINN 91 ¥30vdS OL 'ON Luvd
SIILINTIN NI 3V SNOISNINIG TTV

-SZ°0_SITONY NO "I0L TVAIDSD
ONIY 3AIMG WHdNS OL 00b1

ST
eoom\ro\mw_zu A _Eommmo

ONIITANIONT 540

4 991V IavL zeel — 407 00l s’V
Q303 SSTINN FONVNTTOL ORIIIN M

=] =T, AR
[ wow - 81 |

g
0
ot
A
m
x
m
Y
m

INIH INSVAW —-nr 3uan Junsvan —i )

WIHL NILHOIL ATIVNIY NOA N3HM S1708 3S3HL
NO £¥Z AdAL SY HONS LAULD0T,  HION3MLS
WIA3IW v 3SN 0L 318vSIAGyY 38 ainom L

W
s
i
m
T
m
)
m

NOILISOd 3HL NI QaNIWWIY SYH SN 3IHL LvHL
HO3HD NIHL ONY ATINZ S1108 ISIHL NALHDIL

(,200°) MO WSO NiHLM

39 0l Q3IIN SINIWIUNSVIN 3STHL  * SIoV]Y

v NI _U3NIVISO S| INIW3UNSYIW IAvS IHL TILNN
LSNPy ANV SHALINOHOIN 80 341D HAINYIA
¥ HIM S33v1d 4N04 NI 3ONVLSIO 3HL JuNSYIN:
1HOIL 001 LON INg AWM NOLLISOd OINI L7108
133HS NOILONYISNI O1 ¥3J3 * NILYIANOD
INDYOL IHL OL INRY FHL 1108 ° $3MNQI00NY
3S3HL MOTTIO4 ATINAZNYD * ¥3LYIANOD

INDHOL OL INUL SNIY 3AMA WOININOTY L3S O

QIS YALIAANGS ANDHOL

\ll



